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QUESTION 1

The decoupling of a service contract from the service\\'s underlying implementation results in a(n)

in the service\\'s level of abstraction because service implementation
details helps prevent service consumers from being designed to indirectly couple to the underlying service
implementation. Select the correct answer.

A. increase, hiding
B. increase, publishing
C. decrease, hiding
D. decrease, publishing

Correct Answer: A

QUESTION 2
Fill the blank for the following definition of the Service Statelessness design principle:

"Services minimize resource consumption by the management of state information

when necessary." Select the correct answer.
A. increasing

B. encapsulating

C. deferring

D. assuming

Correct Answer: C

QUESTION 3
Common problems associated with silo-based application design include: SELECT ALL THAT APPLY

A. It can result in a significant amount of waste due to the fact that silo-based applications can have significant
redundant functionality.

B. It can result in bloated, oversized technical environments.

C. The integration effort required to make disparate silo-based applications interoperate can be complex and
expensive.

D. IT operational costs can continue to escalate as more silo-based applications are added to an IT enterprise.

Correct Answer: ABCD
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QUESTION 4

The Service Discoverability principle is primarily concerned with increasing the of the information
published about a service. Select the correct answer.

A. complexity ratio

B. scalability ratio

C. communications quality
D. linear quality

Correct Answer: C

QUESTION 5

The scope of a typical SOA initiative is application-specific, thereby fostering reuse primarily within application
boundaries. Select the correct answer.

A. True
B. False

Correct Answer: B
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